
Point-Of-Sale 
Display

MERITOR® REPLACEMENT PARTS CENTER

Help your parts sales soar with this attractive space saving unit.

Meritor part number DISPLAYPC300M 
offers the “A” moving wheel attaching parts 
for the industry displayed in this attractive 
Replacement Parts Center. The list on the 
reverse side of this brochure includes the 
most common and highest quality wheel 
attaching parts available. Parts which now 
can be presented in this Replacement Center 
while providing organization and display 
appeal for your store location.

This heavy gauge steel Replacement Parts 
Center offers a capacity of eight (8) two-
gallon display pails and six (6) five-gallon 
display pails (three on the display and three 
on the floor). The parts center measures 72” 
tall, 45” long and 24” wide (some assembly 
will be required). The display pails can be 
used for wheel attaching hardware or  
various other products offered through 
Meritor, if desired.

Rugged 
construction for 
heavy weight

Constructed for 
easy assembly

Powder coated paint 
finish for show room 
quality and durability

Meritor artwork



MERITOR REPLACEMENT PARTS CENTER

Meritor Heavy Vehicle Systems, LLC
7975 Dixie Highway

Florence, Kentucky 41042  USA

Litho in USA
©2011 Meritor, Inc.

SP-1178 Revised 4-11 (47865/11900)

For more information:
U.S. 888-725-9355
Canada 800-387-3889 
XpresswayPlus.meritor.com 
meritor.com.

ORDER QUANTITY

This Replacement Parts Center and above inventory can be ordered under part number DISPLAYPC300M.

The Replacement Parts Center, including unfilled pails, is also available to purchase out right by ordering part number PROMOCENTER-M.  

Also available is the Meritor Stud Chart which shows all of the wheel studs offered by Meritor. This stud chart under part number TP-9613,  
features 34 pages of life size pictures of the actual stud.

Meritor Number Replaces Description Thread Size Quantity Unit Pack

R006000APL W498, 13-3052, W1338, W538, M3203 Wheel Nut M22X1.5 1 300

R007895RPL W11, 13-3005R, W694, M3396 Inner Cap Nut 1-1/8”-16 1 325

R007895LPL W12, 13-3005L, W695, M3397 Inner Cap Nut 1-1/8”-16 1 325

R005977RPL W13, 13-3012R, W746, M3394 Wheel Nut 1-1/8”-16 1 525

R005977LPL W14, 13-3012L, W747, M3395 Wheel Nut 1-1/8”-16 1 525

R004963PL 13-8004, M45, WP148 Rim Nut ¾ - 10 1 850

R0010676 W669, 13-1577, W1327 Stud M22X1.5 3 10

R006034 W546, 13-1572, M3217 Stud M22X1.5 3 10

R006035 W545, 13-1571, M3216 Stud M22X1.5 3 10

R005652R 13-3013R, W15, M124 Cap Nut ¾ - 16 1 25

R005652L 13-3013L, W16, M125 Cap Nut ¾ - 16 1 25

R002237 M1068, 06-230, L1327 Washer 4 – 1/32” 3 12

R005991 W492, 13-3050, M3207, 179955 Wheel Nut M22X1.5 3 8

R004961A W451, M138, 21137 Lock Nut 1 25

additional features
l	 Stud measurements
l	 Over 200 different studs  
l	� An inactive stud section, which features life-size studs pictured to assist with part identification
l	 An index to help you find studs by your needed part number

The chart is made to hang in your store or shop and is available free of charge through Literature  
On Demand at meritor.com. Order under part number TP-9613.

Wheel Stud Chart


